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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) 5% F97 F G YT %} FHER 0 G 5T F |

Solve all paris of a question consecutively together.
(iii) 4% 7 F1 79 J8 & IR FHord |

Start each question on fresh page.
(tv) g1 4TS 4 SR § #1141 3 St rgare & wrr § |
Only English version is valid in case of difference in both the languages.

1. = % 989 1§ 3o ferfgu
Write brief answers of the following :

() e ST <l HEHTST | 38 3T ot ferfiu )

Explain Kinematic viscosity. Write its unit also.

(i) 76 .7, TR % g1 3 ) g1 diaar 3 TR # sred B |
Convert 76 cm pressure head of mercury into intensity of pressure unit “Bar”.
(i) Pl smiaae ?

What is Piezometer ?

(iv) IO & 319 T T § 7
What do you understand by cavitation ?

(v) Teufast ofid, g s afk e s @ @ 2
What is static head, pressure head and kinetic head ? (2x5)
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fafaw |

Explain the working of a inverted U-tube manometer with help of a sketch. Write
down the formula for pressure.

T A0 H1 weT 760 frefnfet W 2 | =2 wfa =t et qun ot % ded |
mmwm?qﬁwmmn.ﬁl

The reading of a barometer is found to be 760 mm of Hg. What shall be the
atmospheric pressure in N/m?2 and in terms of water ? Take specific gravity of
Hgis 13.6. : (6+6)

mﬁaﬁmﬁaﬁﬁﬁmtﬁamlﬁmﬁmm%?
Frravas g7 oft fafew |

Explain Orifice meter with help of neat sketch. How is discharge calculated ?
Also, give the necessary formula.

i e forege AT TR AT | TS T H e R 7

Give difference between Laminar and Turbulent flow. What is the importance of
Reynolds number ? (6+6)

22 T A1 HI [ THAEY | ST O, A &1 T A Sidsel § W
Tt ST |

Explain Newton’s law of viscosity. Establish relation between co-efficient of
viscosity, velocity gradient and shear stress.

0.05 poise FrE TIHET T 0.035 stokes T ST 916l a1 3T fETes Tecd F1d
i |

Determine the specific gravity of a fluid having viscosity 0.05 poise and
kinematic viscosity 0.035 stokes. (6+6)

T 4 Hiet et At gy wEd % e e = 200 firft qen ot fR %1 =\
500 firfl 2 | st qen Sl R o g HAw: 100 kPa @ 60 kPa & | U139 # 0.8 MU
T 1 3ot At B T @ | R P 200 e/ R | g1z & AT Y few wa o
gfer Fra IR |

A 4 m long vertical pipeline has 200 mm diameter at bottom and 500 mm diameter at
top end. Pressure at bottom and top ends are 100 kPa and 60 kPa respectively. A liquid
having specific gravity of 0.8 is flowing in pipe whose discharge is 200 lit/sec.
Determine the direction of flow and head loss in pipe. (12)
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6. (i) U UEYH q Rl % nex udur gra i 1.5 et I % ged 2 | U159 hI oA q
TS A 30 At we 250 Hex 2 | Uy § urh w1 e foret/dwve | wa
T | fHIHA 0.01 W |

Loss of head due to friction between two ends of a pipe is 1.5 m. of water. The
diameter and length of the pipe is 30 cm and 250 m respectively. Find the
discharge of water in litre/sec. Use f= 0.01.

(i) rsw Refen & fafirm oy afel o wmemse |

Explain various minor losses in pipe fittings. (6+6)

7. () TR geg < wegAT vd SEyvTe s auss |
Explain construction and working of a gear pump with sketch.
(i) 3= g % fafirr o, qerand wg sravas wifaa 1 awEsy |
Explain different hequ, efficiencies and required power of centrifugal pump. (6+6)

8. T w wftra feoafmi fafw -
Write short notes on the following :
(i) SETE™
Water Hammer
(ii) =y aca
Various types of valves
(iii) TIhgt Urg St wshim

Priming of centrifugal pump (4x3)
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